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Unit #2: Methods of Integration

Topic: More U-Substitution

Objective: SWBAT find an indefinite integral of a composite function by using a u-
substitution.

Warm Up #2:

Evaluate each of the following:

2x 2
D) | e b) [
Tips & Guidelines

Sometimes we need to look harder to find the appropriate substitution.
— * If something is being raised to an exponent, that will be wu.
in) * If one function is 1 degree higher than the other function, that will be w.
1}”/ * Ifeisbeing raised to an exponent, that exponent will be w.
* Ifyou have one trig function, the inside function will be u.

* If something is under a radical, that will be wu.
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Example #1: Evaluate [ +Vxvxvx +1 dx

Example #2: Evaluate [ =
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Problem Set #2: Evaluate each of the following integrals using an appropriate
substitution.
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If functions f and g are differentiable functions,
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